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3. MEEH

1. BE
EXxnNEIX
R 1:50
mT
| 6 1
4 |
+ |
(56 2 1
Wt | BAEE | $AEAN | T-LX | 7oALY | AU | EAUMY
R 4 |Ex&S :
m? kN/m?3 kN/m m m kNm/m kNm/m
1 0413 24.000 9.912 1.325 0.125 13.133 1.239
2 0.013 24.000 0.312 0.475 0.125 0.148 0.039
R K 3 0.053 24.000 1.272 0.467 0.950 0.594 1.208
4 0.353 24.000 8.472 0.375 1.175 3.177 9.955
5 0.075 24.000 1.800 0.150 0.125 0.270 0.225
RIAEET 21.768 0.796 0.582 17.322 12.666
6 3.465 16.000| 55.440 1.325 1.300 73.458 72.072
@t
7 0.053 16.000 0.848 0.483 1.650 0.410 1.399
EEmtEas 56.288 1.312 1.305 73.868 73.471
B E 17.000 1.300 2.350 22.100 39.950
weaeE 95.056 1.192 1.326| 113.290| 126.087




2. BEITICKBEE
Py =t Ky 7 o H2 :% x 0.500 X 16.000 X 2.3502 =22.090 kN/m

2

Pi4=P1cos & 5=22.090 X 1.000=22.090 kN/m
P1y=P;*sin 8 §=22.090 X 0.000=0.000 kN/m

3. REBMEITKILE
P2 =Ka q-H=0.500 X ( 10.000—5.000 ) X 2.350=5.875 kN/m

Pon=Py* cos & 5 =5.875 X 1.000=5.875 kN/m
Poy=P,*sin & $=5.875 X 0.000=0.000 kN/m

4. £
= - T E | $RESH | KESH | T-LAX | T-AY | RET-H b | EREIE-IUH
kN/m kN/m kN/m m m kNm/m kNm/m
BEmttx 22090 0000| 22090 2150| 0.783 0.000 17.304
ISMEmELE 5.875 0.000 5.875 2.150 1175 0.000 6.903
a &t 0.000| 27.965 0.000 24.207




4. BEETE

1. BRfBl(Cxt 3 B4R ET
M, =113.290+0.000=113.290 kNm/m

H 2. 350

M, =P1n '%+P2H '7:22.090 N 2.350

+5.875 % 2

—5—=24.207 kNm/m

2 M=M,—M,=113.290-24.207=89.083 kNm/m
2 V=95.056+0.000=95.056 kN/m

SM_ 89083 _
d=2M_ 89083 9371 m
d(=09371) >3 (=2120=07166) 0K

QB_/CBEEE?%)O)'& SEIICHT HREMIXOK,

2. BEICHT HIRE
2 V=95.056 kN/m
Y H=22.090+5.875=27.965 kN/m
TV-p _ 95.056 x 0.300

=1.0197 < 1.5 NG

Fs="SH = 27065
M A0LLE15

ERDEE
L=H0-tan( 45°+%E’L) =0.250 X tan53.000°=0.332 m

1 1
00=7+( 01+ 05 )= x(53826+48568
=51.197 kN/m? b
L L
P=0 g-tan? ( 45+32) =51.197 x tan? 53.000° o ‘
=90.154 kN/m? al o gz/qu
i

WF%'( ait 0o )'L1+%'( azt+02)-Ly

:l x (61.239+53.826) % 0.468+l>< (27.185+48.568) X 1.350=78.058 kN/m

Fe= Wi u +P-Hp _ 78.058 X 0.300+90.154 X 0.250
2H

27.965
=1.6433 > 1.5 OK

3. R AT HiREt

:% —d= 2'1250 ~0.937=0.138 m |
_3V 95056 0.138 Fé ﬁrsd&%o)éﬁ
0="g (‘iﬁ ) T2150 x( 126X 2.150) ‘
_ qi=61.2388 KN/m? ,
=< Q271852 KN/m2 < 1000 kN/m? OK da |e
B/2 B/2
B




5. BTEDETE

1. =CTEDHE
(1) 1=TEETix
(a) T EDEE
FHEE
1

Py :%- K 7 5+h? =7 X 0.500  16.000 X 2.100% =17.640 kN/m

-FEEEDKERS
Pn1=Pa1"cos 8 s =17.640 X 0.978=17.252 kN/m
-REHETRE
Pa2=Ka*q*h
=0.500 x (10.000—5.000) % 2.100=5.250 kN/m
-FREHAREICKDSILTEDKERS h
Ph2=Pa2"cos 0 ¢ =5.250 X 0.978=5.135 kN/m

(b)ETE N DEE
HIFE—AUR

M:Ph1 '%'h+Ph2 "

B AR
S=Ppn1 +Pn2=17.252+5.135=22.387 kN/m

%- h=17.252 X %X 2.100+5.135x %X 2.100=17.468 kNm/m

(c)TC\jJ n'l'%:

- A%
SR D13 AR @150  SAFETEIE(A.) 8.447 cm?
- i 37 Bl
_15'A, [ _ 2-b-d
x=— 2 Pa e ( 1+, /150 A, )
15X 8447 2% 100X 13.300 \ _
— 100 H‘/”‘ T5xe4a7 ) 4675 om
'Iﬁﬁﬁo)ﬁ?ﬁr
- _ 2x17.468 X 10°
4675
bexe ( d—=% ) 1oo><4.675x( 13.300——+91— )

=6.3644 N/mm? < 0 ¢a=7 N/mm? OK

13.300—4.675
4675

=176.1160 N/mm? < 0 s, =196 N/mm? OK

%:1 5 X 6.364 X

Os=150 "

22.387 X 10
b-( d__) 100><( 13300——2815)

=0.1906 N/mm? < T, =0.70 N/mm? OK



(2)1=TEEhE
(a) X EDFE
EELE
1

Pmc:%- Kar 7 % =5 % 0500 X 16.000 X 1.050% =4.410 kN/m

2

-FEHTEDKERS

Phic=Pa1c"cos 0 s =4.410 % 0.978=4.313 kN/m
-REHTRE

Pa2.=Ka*q-he

=0.500 x (10.000—5.000) x 1.050=2.625 kN/m

REHFFREICKDILEDKFERS

Ph2c=Pa2ccos 0 s =2.625 % 0.978=2.567 kN/m

h=h/2

(b)BFE D DETE
-BIFE—AVK
M=Pp1 "+ hotPrae * -+ ho =4.313 X - X 1050+ 2.567 X - X 1.050=2.857 kNm/m
HAETA

S=Phic +Pnh2:=4.313+2.567=6.880 kN/m

(c)TC\jJ n'l'%:

- A %R
SRR D13 HA5MERE @300  SAABTEIE(A) 4.223 cm?
- P 37 B
_15:A, [ _ 2b-d
S 1+, /150 A, )
 15%4.223 2% 100 % 10.800 \ _
— 100 H‘/”‘ 54203 ) =319 om
BRE DS IE
o= 2:-M _ 2x2.857x10°
C
box-( d=%)  100x3.119%( 10.800—%)

=1.8769 N/mm? < 0 ¢a=7 N/mm? OK

10.800—3.119
3.119

=69.3358 N/mm? < 0 ¢, =196 N/mm? OK

05:15-06-%:15x1.877x

6.880 X 10
b+ ( d——) 1oo><( 10.800——3-519—)

=0.0704 N/mm? < T, =0.70 N/mm? OK




2. DEEMRDFE

(a) BERUVHE
300
5
S
o o
§ N
-4 o 9
8 = 1 I
dz =
7 27.185 kN/m?
ai= qr= 2
61.239 kN/m?| | 96:487 kN/m
/
300, 1850
2150
WrmEiE | BAEsE | A T—LX | E-AUb
X & |EXxES
m? kN/m? kN/m m kNm/m
B4R 1 0.075 24.000 1.800 0.150 0.270
Bl @ T 2 0.030 16.000 0.480 0.150 0.072
& &t 2.280 0.342




(b) B E(C L HHTE N
-?%tﬂlil-;é%—}yh

Mq=="(2-q1 +aqi)* |_2——x(2x61 239+56.487) x 0.300%=2.684 kNm/m
-%ﬂ&k&éﬁh%
Sq :%- (g1 +ar) -L:%x (61.239+56.487) % 0.300=17.659 kN/m

(c)BrmEm D &Et
-HIFE—AF
M=M, — 2 M,,=2.684—0.342=2.342 kNm/m
HAET A
S=S, — 2 S,,=17.6569—2.280=15.379 kN/m

(EHEDFHE
- {5 kAR

$%AR12 D13 SkAFREIRR @300  SkARBTETE(A. 4.223 cm?
- th 37 &

e —W+—$g?,;f )

 15%X4.223 2x100x18.300 \ _
— 100 H‘/ 1+ A ans ) =4223 om
BREDG DE
2-M 2X2342%x10°

UC: g

brx-( d—%)  100x4223x ( 18300——*228)

=0.6566 N/mm? < 0 ¢a=7 N/mm? OK

18.300—4.223
4223

=32.8507 N/mm? < 0 s, =196 N/mm? OK

=15%0.657 X

osﬂS-ocvi%;L

_ _ 15.379 X 10
b-(d—%)  100x( 18300——4223)

=0.0910 N/mm? < T, =0.70 N/mm? OK



3. hhhehrDEE

() BERURHE
. 1650 A
| o
: 2 T
[ : N
| 1 Iz
q2 =
L 27.185 kN/m?
91~ 25_319 kN/m?
61.239 kN/m? . m
/
500 1650
2150
BrERE | BEMEE | AN | 7T-AX | TAUb
X n | EXRES
m?2 kN/m3 kN/m m kNm/m
5 IvS 1 0.413 24.000 9.912 0.825 8.177
T @ 2 3.465 16.000 55.440 0.825| 45.738
REHEHMAE 16.500 0.825| 13.613
& &t 81.852 67.528

_10_




(b) MK ABE A
EHEICKBE—AVE

Mg :%- (2+qo+q7) -L? :% X (2% 27.185+53.319) x 1.650? =48.864 kNm/m
GERTEZ LB HE AR
Sq :%- (97 +q2) -L:%x (53.319+27.185) X 1.650=66.416 kN/m

(c)BrmEm D &Et
-HIFE—AF
M=2 M, —M,=67.528 —48.864=18.664 kNm/m
- AKTA
S=2S,—S,=81.852—66.416=15.436 kN/m

(EHEDFHE
- {5 kAR

$%AR12 D16 SkAFREIRR @300  SkAFMTETE(A. 6.619 cm?
- th 37 &

e —W+—$g?,;f )

15X 6.619 2x100% 18.200 \ _
— {00 H‘/”‘ 156615 ) =5100 cm
-HTE DG D E
2-M _ 2x18.664 x 10°

GC:

bx-( d—%) ) 100x 5100 x ( 18.200——2-100)

=4.4358 N/mm? < 0 ¢a=7 N/mm? OK

18.200—5.100
5.100

=170.9164 N/mm? < 0 <, =196 N/mm? OK

=15%X4.436 X

osﬂS-ocvi%;L

_ _ 15.436 X 10
b-(d—%)  100x( 18200——2100)

=0.0935 N/mm? < T, =0.70 N/mm? OK

_11_



4. BREDETE
(a)BrE D DEFE
HAMD
S=W; - £ +P-Hg=78.058 x 0.300+90.154 X 0.250
=45.956 kN/m
-BHIFE—AVK

M=S % Ho =45.956 X % x 0.250=3.830 kNm/m

(DIEHEDGE
-[ERS%H

B D13 HEHRIFE @300 SEETEIEA) 4.223 cm?

- HRILEh

e —W+—fg?,;f )

_ 15x4.223 2x100%18.300 \ _
= 100 H‘/”‘ 154293 ) =4223 cm
BRE DS IE
2:M 2 % 3.830 x 10°

UC: g

brx-( d—%)  100x4.223x ( 18300——*228)

=1.0737 N/mm? < 0 ¢a=7 N/mm? OK

18.300—4.223
4223

=53.7012 N/mm? < 0 ¢, =196 N/mm? OK

=15%1.074 X

0.=15"0, %

45.956 X 10
b-( d__) 100><( 18.300——2223)

=0.2720 N/mm? < T, =0.70 N/mm? OK

_12_
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6. ELAMTEizIK (BB )

WR 1:25
. 300 .150. . 1650 .
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o
o o
8 =
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o
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